DELO NA DALJAVO		 PETEK 23. 10.2020       	                   9. razred, 3. SKUPINA

Preglej   včerajšnje rešitve in popravi!
1a) Ugotovi še za enačbe:
       x + x = 2x               5(n – 4) = 5n – 4              (x – 3)2 = x2 + 6x – 9        (a - 5)(a + 5) = a2  - 25
           2x = 2x               5n – 20  5n – 4        x2 – 6x + 9 x2 + 6x – 9            a2 -  25     = a2 – 25
                                                                                                                           
       Identična                                                                                                                 identična
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2) 3x + 9 = 21 / - 9                               8x – 4 = 20 / + 4
          3x = 21 – 9                                       8x = 20 + 4
          3x = 12 / : 3                                      8x = 24/ : 8
            x = 12 : 3                                           x = 24 : 8
            x = 4                                                  x = 3
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